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When we buy and sell things in business, we normally gain or loss money.  

 

 

Profit: If a selling price is more than its cost price, then it 

is called profit. 

Loss: If a cost price is more than its selling price, then it 

is called loss. 

 

Percentage profit (Profit %) or percentage loss 

(Loss %) is always calculated on the cost price.  

 



Formula 

1. Profit = S.P. – C.P. 

2. Loss = C.P. – S.P.                                             Cost Price = C.P. 

                                                                          Selling Price = S.P. 

3. Profit % = 
𝑃𝑟𝑜𝑓𝑖𝑡

𝐶.𝑃.
× 100%  

 

4. Loss % = 
𝐿𝑜𝑠𝑠

𝐶 .𝑃.
× 100%  

 

5. For profit: 

             S.P. = [
(100+𝑝𝑟𝑜𝑓𝑖𝑡 %)

100
× 𝐶. 𝑃.]   

6. For Loss:  

             S.P. = [
(100−𝐿𝑜𝑠𝑠  %)

100
× 𝐶. 𝑃.]   

7. For Profit:  

             C.P. = [
100

(100+𝑝𝑟𝑜𝑓𝑖𝑡 %)
× 𝑆. 𝑃.] 

8. For Loss:  

             C.P. = [
100

(100−𝐿𝑜𝑠𝑠  %)
× 𝑆. 𝑃.] 

 

 

Word Problem 

1. If a pen is bought at 50 Taka, and sold at 56 Taka, then what is the profit %? 

Solution:  

               Given,  

                          Cost price = 50 Taka 

                      Selling price = 56 Taka 

         Profit = Selling price – Cost price 

                   = (56 – 50) tk 

                   = 6 tk 



We know,  

                Profit % = 
𝑃𝑟𝑜𝑓𝑖𝑡

𝐶𝑜𝑠𝑡 𝑝𝑟𝑖𝑐𝑒 
× 100% 

                              = 
6

50
× 100% 

                              = 
6×100

50
% 

                              = 12 % 

                 Ans: 12% 

 

 

2. If a notebook is bought at 15 Taka and sold at 12 Taka, then what is the loss 

%? 

Solution:  

               Given,  

                           Cost Price = 15 Taka 

                       Selling Price = 12 Taka 

              Loss = Cost Price – Selling price  

                       = (15 – 12) tk 

                       = 3 tk 

    We know,  

                  Loss % = 
𝐿𝑜𝑠𝑠

𝐶𝑜𝑠𝑡 𝑝𝑟𝑖𝑐𝑒 
× 100% 

                               = 
3

15
× 100% 

                               = 20%  

                    Ans: 20 % 

 



3. A seller purchased a machine from a factory and sold it at 55200 Taka with 

the profit of 15%. How much was the cost price? 

Solution:  

               Given,  

                          Selling price = 55200 tk 

                                  Profit % = 15 % 

            We know,  

                              Cost Price = [
100

(100+𝑝𝑟𝑜𝑓𝑖𝑡%)
× 𝑆𝑒𝑙𝑙𝑖𝑛𝑔 𝑝𝑟𝑖𝑐𝑒 ] 

                                               = [
100

(100+15)
× 55200 ] tk 

                                               = (
100×55200

115
) tk 

                                               = 48000 tk  

                              Ans: 48000 tk  

 

                Rough 

                    480 

       115 ) 55200 

                460  

                   920 

                   920 

                     0 

 

 

 

 

 

 



4.  A seller laid a table in stock but sold it at 7040 Taka after 12% discount from 

the cost price. How much was the cost price of the table? 

Solution:  

                Given, 

                              Selling price = 7040 tk 

                                     Loss %   = 12% 

             We know,  

                              Cost price = [
100

(100−𝑙𝑜𝑠𝑠%)
× 𝑆𝑒𝑙𝑙𝑖𝑛𝑔 𝑝𝑟𝑖𝑐𝑒 ] 

                                                = [
100

(100−12)
× 7040]  tk 

                                                = (
100×7040

88
) tk  

                                                = 8000 tk  

                              Ans: 8000 tk 

            Rough  

                80 

     88 ) 7040 

            704 

                  0  

                  0 

                  0 

 

 

 

Exercise (Do yourself) 
1. In a shop an item of 1800 Taka was sold at a discount of 20%. How much Taka 

was the selling price? 

 

2. A seller purchased boxes of vegetables from a farmer and sold them at a market 

at 6,300 Taka with a profit of 40%. How much was the cost price? 

 


